PERFORMANCE STANDARD
LEMBAGA PEPERIKSAAN MALAYSIA

FORM 1


	Learning Outcomes
	(i) Identifying main ideas in simple paragraphs.

(ii) Identifying supporting details or ideas in simple paragraphs.



	Band
	3

	Performance Standard
	B3

Use knowledge acquired through listening, speaking, reading and writing

	Descriptor
	B3 DB1 – Reading and identifying information in a linear/non linear text.

	Evidence
	B3 DB1 E1- Able to identify main ideas and supporting details in non linear text by 

· answering comprehension questions 
· checking true/false statements.




STUDENT’S COPY

B3DB1E1 :

Able to identify main ideas and supporting details in non linear text by answering comprehension questions and checking true/false statements.
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INSTRUCTIONS: Read the pamphlet and choose the best answer.

1.  According to the poster, most accidents are caused by …

      A.
vehicles

      B.
carelessness

      C.
heavy traffic

      D.
fast-moving cars

2. Why should you wear seatbelts in moving car?

      A.
So that you can be safe when the vehicle is moving very fast.

      B.
So that you can save your life if you have to cross a busy road.

      C.
So that you will not be thrown forward when the car stops suddenly.

      D.
So that the drivers in the other vehicles will be able to see you clearly.

3.  Why shouldn’t you cross behind a stationary lorry?

        A.
Because you will be blocking the view of the lorry driver.

        B.
Because drivers of oncoming cars will not be able to see you.

        C.
Because the driver of a moving vehicle will be able to see you.

        D.
Because the stationary lorry may suddenly start moving backwards.

4.   The sentence It is better to be safe than sorry means …
         A.  it is better to follow safety rules instead of regretting it later.

         B.  it is better to remain safe instead of having to apologise later.

         C.   it is better to wear seat belts all the time instead of saying sorry.

         D.   it is better to stay at home than go out when there is heavy traffic.
INSTRUCTIONS: Read the sentences, and say if they are true (T) or false (F).
(a)  We need to wear seatbelts while in a moving car.  (______)
(b)  We must check one side of the road carefully before crossing. (______)

(c)  You can cross behind a stationary bus, lorry and van. (______)
(d)  Do in single file at the side of the road. (_____)
(e)  The simple traffic rule is looking left, right and left before crossing (_______)
(f)  Road accidents are not the result of carelessness. (_______)

TEACHER’S COPY

B3DB1E1 :

Able to identify main ideas and supporting details in non linear text by answering comprehension questions and checking true/false statements.
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INSTRUCTIONS: Read the pamphlet and choose the best answer.

1.  According to the poster, most accidents are caused by …

      A.
vehicles

      B.
carelessness
      C.
heavy traffic

      D.
fast-moving cars

2. Why should you wear seatbelts in moving car?

      A.
So that you can be safe when the vehicle is moving very fast.

      B.
So that you can save your life if you have to cross a busy road.

      C.
So that you will not be thrown forward when the car stops suddenly.

      D.
So that the drivers in the other vehicles will be able to see you clearly.

3.  Why shouldn’t you cross behind a stationary lorry?

        A.
Because you will be blocking the view of the lorry driver.

        B.
Because drivers of oncoming cars will not be able to see you.
        C.
Because the driver of a moving vehicle will be able to see you.

        D.
Because the stationary lorry may suddenly start moving backwards.

4.   The sentence It is better to be safe than sorry means …
         A.  it is better to follow safety rules instead of regretting it later.
         B.  it is better to remain safe instead of having to apologise later.

         C.   it is better to wear seat belts all the time instead of saying sorry.

         D.   it is better to stay at home than go out when there is heavy traffic.
INSTRUCTIONS: Read the sentences, and say if they are true (T) or false (F).

(a)  We need to wear seatbelts while in a moving car.  (_T_)

(b)  We must check one side of the road carefully before crossing. (__F____)

(c)  You can cross behind a stationary bus, lorry and van. (__F____)

(d)  Do in single file at the side of the road. (__T___)

(e)  The simple traffic rule is looking left, right and left before crossing (___T____)

(f)  Road accidents are not the result of carelessness. (____F___)

